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Y3en cnucka (koa)

struct node{
int info;
node™® next;
node* prev;

5



Cnuncok pykamu

struct node{
int info;
node *next;
node *prev;

5

int main() {
node *first, * second;
first = new node;
first->info = 10;
second = new node;
second->info = 20;

first->next = second;
second->next = NULL;
first->prev = NULL;
second->prev = first;

cout << first->info << endl;

cout << second->info << end|;

cout << first->next->info << endl;
cout << second->next->info << endl;
cout << first->prev->info << end|;
cout << second->prev->info << endl|;

}
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Cnuncok pykamu

struct node{ first->next = second;
second->next = NULL;
first->prev = NULL;
second->prev = first;

int info;
node *next;
node *prev;

}; cout << first->info << endl;

int main() { cout << second->info << end|;
cout << first->next->info << end|;

* £ * .
node ﬂrStr second; cout << second->next->info << end|;

first = new node; cout << first->prev->info << end|;
first->info = 10- cout << second->prev->info << end|;
?
}
second = new node;
. first second
second->info = 20;
10 20
next next — NULL
NULL <«— prev |« prev
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Cnuncok pykamu 2

node *a, *b, *c; cout << a->next->info << end|;

a = new node; cout << a->next->next->info << endl;
a->info = 10; cout << b->next->info << endl;

b = new node; cout << b->next->next->info << endl;
b->info = 20; cout << c->next->info << end];

c = new node; cout << c->next->next->info << endl;
c->info = 30;

a->next = c; a->prev=c; cout << a—>prev—>info << endl;
b->next = a; b->prev=c; cout << a->prev->prev->info << end|l;
c->next = b; c->prev=Db; cout << b->prev->info << end];

cout << b->prev->prev->info << endl;
cout << c->prev->info << end|;
cout << c->prev->prev->info << endl;
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node *a, *b, *c;
a = new node;
a->info = 10;

b = new node;
b->info = 20;

Cc = hew node;
c->info = 30;
a->next =c;
b->next = a;
c->next = b;

Cnuncok pykamu 2

cout << a->next->info << endl;
cout << a->next->next->info << endl;
cout << b->next->info << end|;
cout << b->next->next->info << endl|;
cout << c->next->info << endl;
cout << c->next->next->info << end|;
cout << a->prev->info << endl;
cout << a->prev->prev->info << endl;
cout << b->prev->info << endl;

cout << b->prev->prev->info << endl;

cout << c->prev->info << end|;
cout << c->prev->prev->info << end|;
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BbiBOO cnucka

for(node™ cur = start; cur!=NULL; cur = cur->next){
cout << cur->info << endl;

start

20 10 30 40 70 60 50
next —> next —>{ next — next — next — next —» next —>NULL
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BbiBOO cnucka

for(node™* cur = start; cur!=NULL; cur = cur->next){
cout << cur->info << endl;

}
for(node* cur = finish; cur!=NULL; cur = cur->prev){
cout << cur->info << endl;

start finish

20 10 30 40 70 60 50

next —>NULL
prev [«— prev [«— prev |[«— prev

next —» next —» next » next —» next —» next

4

|

NULL «— prev [«— prev [«— prev [«
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[lononHeHune cnucka

hefd talil newNode

20 10 30 40 50

next » next » next » next —>NULL next —>NULL
NULL «— prev [«— prev [«— prev <«— prev NULL <« prev

head tail newNode

20 10 30 40 Ceveenneed » 50

next —» next —»{ next —>» next »NULL next —»NULL
NULL < prev [«—| prev [«— prev [«—{ prev [« NULL < prev

hefd tail newNode

20 10 30 40 50

next » next » next » next » next —»NULL
NULL «— prev («— prev [«— prev «— prev (< — prev
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newNode = new node;
newNode->info = 50;
newNode->next = NULL;
newNode->prev = NULL;

tail->next = newNode;

newNode->prev = tail;
tail=newNode;
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Co3gaHune cnmcka ¢ Hyns

node *newNode = new node;

tail
start newNode->info = 10;
I | newNode->next = NULL;
10 newNode->prev = NULL;

next —»NULL start = newNode;
NULL «— prev tail = newNode;
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BBoa-obpaboTka-BbIBOL,

node *head=NULL, *tail=NULL, *newNode; int x;
while(cin>>x){
newNode = new node;
newNode->info = x;
newNode->next = NULL;
newNode->prev = NULL;
if(tail==NULL){
head = newNode;
tail = newNode;
} else {
tail->next = newNode;
newNode->prev = tail;
tail = newNode;



BBoa-obpaboTka-BbIBOL,

for(node* cur = head; cur!=NULL; cur=cur->next){

cout << cur->info << " ";

}

cout << endl;
for(node* cur = tail; cur!=NULL; cur=cur->prev){

cout << cur->info<< " ";

}

cout << endl;



BBoa-obpaboTka-BbIBOL,

for(node* cur = head; cur!=NULL; cur=cur->next){
cur->info *= 2;
}

for(node™* cur = head; cur!=NULL; cur=cur->next){

cout << cur->info << " ";

cout << endl;

for(node* cur = tail; cur!=NULL; cur=cur->prev){
cout << cur->info<< " ";

}

cout << endl;



BcTtaBka y3na

start tarfet finish
20 10 30 40 50 60
next next next —> next —» next —» next ——> NULL
NULL <« prev prev prev [«— prev [«— prev «— prev
45
next — NULL
NULL «— prev
start tarfet finish
20 10 30 40 50 60
next next next —> next | 4 next —»| next —» NULL
NULL <«— prev prev prev [«— prev 7> T prev [«— prev
/?/
/\’ Im
k next
prev
start tarfet finish
20 10 30 40 45 50 60
next next next —» next |—»| next —» next —»| next —» NULL
NULL <«— prev prev prev {«— prev [«— prev <«— prev [«—| prev
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newNode = new node;
newNode->info = 45;
newNode->next = NULL;
newNode->prev = NULL;

newNode->next = target->next;
newNode->prev = target;
target->next->prev = newNode;
target->next = newNode;
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YoaneHue y3na

Sk tarfet finish killNode = target->next;
20 10 30 40 45 50 60
next —>» next —» next —>{ next » next » next —»| next — NULL
NULL «— prev [«— prev [«— prev [«— prev [«—| prev (€ prev [«— prev
start tarfet finish
. nes target->next->next->prev = target,
20 10 30 40 |7 -] 50 60 g P s€L,
next —» next —» next —» next [ . ‘/—; next —»| next — NULL tgrget->next = target->next->next;
NULL <—{ prev [«— prev [«— prev [«— prev E\ \ | prev [« prev
\

‘ delete kilINode;
45 |\

™ prev.

Start tarfet f|n|Sh

20 10 30 40 50 60

next —>»{ next —> next —>» next »| next —»| next —» NULL
NULL <«—{ prev [«—| prev [«— prev l«— prev [«—| prev f«— prev
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YoaneHue y3na

tart target finish .
=1 a’fe killINode = target->prev;
20 10 30 40 45 50 60
next —>» next —>» next —>»{ next —» next —»| next —»| next —» NULL
NULL <« prev [«— prev [«— prev [«— prev prev [«— prev [«— prev
start tarfet finish
20 10 30 7T gy T 60 target->prev->prev->next = target;
next > next —» next —» next [ - 5! next —»| next —> NULL i _
NULL <« prev [«—{ prev «—| prev [«— prev Z\ \ | prev [«— prev arget_>prev =1a rgEt_>preV_>preV;
e delete killNode;
1 )
_next 7
S prev |
start tarfet finish
20 10 30 40 50 60
next —> next —>» next —> next » next —»| next —» NULL
NULL <«— prev [«— prev «— prev [«— prev <«—| prev [« prev
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YoaneHue y3na

killNode = target->next;
after = target->next->next;

NULL after ->prev = target;
target->next = after;
delete kilINode;

start tarfet killNode after finish
20 10 30 40 45 50 60
next —» next —» next —> next » next » next —»| next —» NULL
NULL < prev [«— prev [«— prev [«— prev <«— prev <— prev < prev
start tarfet after finish
20 10 30 200+ v cesi e [0 60
next —» next |—» next —»{ next | . g—ﬁ next —»| next —»
NULL < prev «— prev [«— prev [«— prev [ k""\'fd- | prev [«— prev
45 \\\J
- next =
N prev
start tarfet af'ier finish
20 10 30 40 50 60
next —>» next —>» next —» next —»| next —»| next —» NULL
NULL <«— prev {[«— prev [«— prev «— prev [«— prev [« prev
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